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agree to our plan, (Coooooo)2,

(U0 0O0O00O0 0O 0O )that she does not
know how to deal with the situation. 3.The fifth generation
computers,with artificial intelligence, (Uoag
[1 )and perfected now. 4. He wears a pair of

sunglasses (UO0O0O0000)5.Buying
clothes (UOOO0O0O0O000)0 because
those clothes that a person likes are rarely the ones that fit him or her.
0 O 0O 1. neither will they (neither 0 O OO OO” O0OOO
D00 00ooO” 0odoooobodo)2. Itis because she
IS too inexperienced (L0 O O O O O it is because (that)” 0O O * O
JoOo” oood* boo0d” ooouoooooooooa
OO0O00O000" inexperienced” ) 3. are being developed (“ be
beingdone” OO O0OODOO0OOOOOOOODOOOOO
OO00000bked OO OOOO OO ) 4. for fear that he should
berecognized (forfearthat U U OO OUOO” DOOOOOO
[1) 500 is often a very time-consumingjob (U O OO OO OO

" O00000o00o0dtme-consumingd OO O0O)O00OOO
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